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Generg) [nstructigng.

Read the folluwing instructions carefully. s

@ There are 33 questions in this question paper with interna| choice, _
) SECTION A congiety of 16 multiple -choice questions canrying | mark each,
© SECTION B consists of 5 short answer questions carmying 2 marks each.
(d SECTION C consists of 7 short answer questions CarTying 3 marks each,
(®) SECTION p consists of 2 case- based questions carrying 4 m

® N E consi answer questions carrying 5 m;

@ Al i -

(h) U




d. bis chiral and a undergoes faster Sy2 reqctio®
correct order of i increasing acidic stren .
Phenol < Ethanol < Chloroacetic acid <1"°ﬁ acld
Ethanol < Phenol < Chloroacetic acid < bo"’nc .
Ethanol < Phenol < Acetic acid < C:]:.lorc;:'ﬁ‘?"tl
Chloroacetic acid < Acetic acid < Phenol <.

5/ The
/

[I<III<I

[M<i<Il
M<II<I
I<I<II

/Whlch of the following statem
The rate of a




AT, Monochiar
_ Monuuhlormution
a.

b.

: follo
of toluene in sunlight followeq by,
0-Cresol

m-Cresol
€. 2, 4-Dihydroxytoluene
d. Benzyl alcohol
/]', Which of the following statements is not €0rect?
4. La is actually transition element.
In Lanthanide series, ionic radii decredse from g3+ to L.
¢. La(OH)s is less basic than Lu(OH)3-
d. Tonic radii of Zr and Hf are almost Simi‘ar due to [ gy
/1{ Given below are two statements labelled as Assertion (A)
Assertion(A) : Ortho-and para-nitcophenol-m'be::

y .
Olysis with, aq. NaOH yields.

b.

Select the most appropriate answer f
a. Both A and R are true and R i
b. Both A and R are true but

c. A is true but R is false.

14




(R)
ReasOh " the ions produced and theie

/1’ Given below are two statements labelled as Assertion ( A) and e

.
/.
a

Assertion (A): Conductivity of an electrolyte depends

solvation
Reason (R): Conductivity of an electrolyte does not dev"’d upo? wm
pelow:

Select the most appropriate answer from the options give”
a. Both A and R are true and R is the correct explanatiﬂnf’ .of 5
b. Both A and R are true but R is not the correct expl
c. A is true but R is false.
d. A is false but R is true.
SECTIONB question. The following questions are
This section contains 5 questions with internal choice " g i |
very short answer type and carry 2 marks each.

A first order reaction takes 10 minutes for 25% decomposition-
0.3010, log 3 = 0.4771, log 4 = 0.6021).

A 1.00 molar aqueous solution of trichloroacetic acid (cC

has the boiling point of 100.18 °C. Determine the van't H

(K, for water = 0.512 K kg mol™).

Carry out the following conversions in not
a/Amlm iline to chlorobenzene

2. Out of p-tolualdehyde
of



et e i

' yiplion gf
/( What will be the correct sequenc® gof " Ml
KU ) 'ﬂﬂh of |
complexes, [ o(NHW i {(c'n) i i M the visible region for the
+ AGive a simple chemical test 0 distng lll'MTN' O compounds:
Ethanal and Propanal ing
pWrite the reactions involved in the follo¥
/:Tr/hw d reaction
1) Stephen reduction Ve
f’ How will you bring about following con ng;
Chlorobenzene to pheno!
* Cumene to phenol
_ Phenol to benzoquinon®
i OR
a. Methyl magnesium bromide 10 2- Mﬂhylpmmm
n-2-0l

b. Bromo methane (o propd

¢. Chloro ethane to propan-1-0l |
3‘:/ The rate constant for the first order dcoompontion«nﬁm: lvin |

Calculate E, for this reaction and rate constant k if ts
(Given: R = 8314 JK™! mol ).

26 What information do we get when D-glucose
also

ﬂ-‘pﬂydroxylamine bacetic anhydride

. What happens when:
CHy-Clis treated with aqueous KOH ?
H-Cl | is treated with KCN ?
7 CHy-Br is treated with Mg in the prese




as, uestion has an internal . :
€ach. Reqq r],:d Questioys. Each 9 hoice. wnd

| L Neutral molecyle which
complex , meta] ion ac

Wig ac

1

/ according to number of d A as Lewis base. Ligands are classified
metal atom is cal)eq Uniill:,f:ron Pair jp, ‘:E: ligand ?idan d which can donates one e pair 10 the
Metal 1on is called didentate ‘?ite hgﬂnd . mr:.“n.cd f,hich can donate two electron Pair to the
15 called polydentate | igand. p (ﬁ‘;‘:]d. The ligandg?g which two or more coordination sites are there

Chelate. te ligang forms cyclic structure with metal ion and form
Answer the

boung Passage corefully @4 A the questions that fotow,
ts as Lo to © ety e ccondary valency is called as ligand. In

/2/‘ following questiong.
: Which of the following ;

. 818 mope ¢ d why?
/ [CotNH)e"* ar [Coten - table copplex an

™

/P.( How is a double saly different from g ¢ lex?
mplex?

! C. Write the [UPAC name of T 5 5 i
| [Co(NH;3)sBr]SO4. Give one che,:}f,al‘t‘;s“mﬁgjﬂ I.‘s‘;“m,- b M Pl

OR
“ Define crystal field splittin en ; ey
/ Coé;lmlion for d*ion if Ay < P:g €TEY- On the .ba_sls of crystal field

/ - The cell constant is usuall determined b o sistance: of
/‘/whose conductivity is alrjéady known, gmm the s
conductivity is known accurately at various concenrat. ol
resistance of a conductivity cell filled with 0.1M
when filled with 0.02 M KCl solution is 420 W.

¢ State the relation between cell constan

the solution. _
A4 How is cell constant determined
7 What is the conductivity
solution?

¢. Define conductance an



E° Value for Mn* /Mp?* couple is much g,

P ' isation nem"ili\re
N hag higher enthalpy of atomisalio thy,

i "

.t p e,
PPer atom g completely filled d Otbitg (g1 WPPOT
lrans:lmn clement. gy Broung o
& Write the ionic equation for reaction of K With . . P IEHILIS regarded as
/K 4 Wha js the effect of temperature on the S0lubjy;

0 | ’

b. Torahi, collected a 10mL each of fresh Water ang %&f:cm i
S4mple labeled “p froze gt 0 0C while ”;lc; Other « at.| 3“'%,. - He observeq gy one
two, “p» 0r*Q” was ocean water. Help ; M idengg, Ici?c [bf?him forgot which of the
Waler, giving rationalization for your allswer, “ontainer containg oeean

¢. Caleulate Van't Hoff factor for an AQUEOUS Soluigy oo

dissociation (q) is 0,852, What will be boling Point ofu.i:( * IFe(CN)G] ifthe degree of

molal? (Kb=0.52 K kg/mol) Ution if s concentration is |
OR

¢ What type of deviation from Roult’s Law is Xpected whep l oy ey
each other? What change in the net volurne of the MiXture  phenol and aniline are mixed with

= T s expected? Graphically represent
the deviation.
5 The vapour pressure of pure water at a cer in emperature is 23,59 i e
volatile non- electrolytic solute is dissolved in 100g water, Calculate the resultant vg o
pressure of the solution. :

iline, ethanamine, 2—’E_thqut_hanam

ii.  Ethanoic acid, ethanamine, ethanol (bo: i
W7 Methanamine, N, N-Dimethylm
aqueous phase)

/36./ a/.;;—nge the following in increasing order of pr — ,
¥ An
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